Level 3 Essential Application of Number Skills

Sample confirmatory test 1

Maximum duration: 60 minutes

Important note
This is a sample confirmatory test, developed jointly by the four Essential Skills Wales
awarding bodies (Agored Cymru, City & Guilds, Pearson and WJEC).

This sample test provides an indication of the likely format and structure of the live
confirmatory tests that will become available from February 2016.

A separate document, containing the answer keys (correct answers) and specification
references is also available.

This confirmatory test consists of 30 multiple choice questions.



Questions 1 to 5 are about motor vehicles.

1 The bar chart shows the number of petrol and diesel cars in Great Britain between

2009 and 2014.

Petrol and diesel cars in Great Britain, 2009 to
2014
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1. Which one of these statements is true? (1)

The number of petrol cars decreased by more than 20% between
2009 and 2014

The number of diesel cars increased by more than half between
2009 and 2014

The number of petrol cars was more than twice the number of
diesel cars in 2014

The number of diesel cars was less than half the number of petrol
cars in 2009

o o m | >

Level 3 Essential Application of Number Skills - sample confirmatory test

Page 2 of 18




2 The number of new cars registered in the UK in 2014 was 2.1 million.

This number is forecast to increase by 5% every year for three years.

A dealer wants to work out the number of new cars registered in the third year after 2014, if

the forecast is accurate.

2. Which of these is the correct method? (1)

2.1 %108 x 1.5%

2.1 x 108 x 1.05%

21x108x1.5x3
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21x108%x1.05%3

3 This information is about alternatively fuelled (electric) vehicles (AFVs).

3. How many more new AFVs were registered in the UK in 2015 than 20147 (1)

New AFVs registered in the UK

Year Number registered
2014 2.3 x 104
2015 3.8 x 104

A 150

B 1500

C 15000
D 150000
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4 This list appears in a report about the numbers of vehicles in different countries.

Vehicles per 1000

Country

people
1t | Australia 703
2" | France 582
3 | South Africa 165

The report states that there are approximately 60000 000 people and 30 000000 vehicles in
the UK.

4. If the UK was included in the list, in which position would it appear? (1)

A 1st
B 2nd
C 3rd
D |4

5 The value of a new car decreases at the rate of 15% per year.
The value of one model of new car is £20 000

5. Which of these calculations gives the value of the car after 5 years? (1)

20000 x 0.15 x 5
20000 x (1 — 0.15)5
20000 x (1 - 0.15) x 5
20000 x 0.155

(WA @RNvED
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Questions 6 and 7 are about motor racing.

6 Sam takes part in motor racing competitions.
The route for a race in the UK is 160 miles long.
A route in France is 320 kilometres long.

Sam uses this information to compare the routes.

5 miles is 8 kilometres

6. How much longer is the French route than the UK route, in miles? (1)

A 40 miles

B 100 miles
C 256 miles
D 352 miles

7 The information in the table is about the first stage of a race.

Set time Sam’s time
(minutes : seconds) (minutes : seconds)

Stage

1 39:50 41:27

In each stage of the race, the time taken by the drivers is compared to a set time.
Drivers score 1 point for every second under the set time.
They lose 1 point for every second over the set time.

7. Whatis Sam'’s total points score for this stage of the race?

A -177
B -97
C +97
D +177
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Questions 8 and 9 are about food poisoning data.

8 The pie chart shows the number and causes of food poisoning in the UK in 2014.

Cases of Food Poisoning 2014

B Norovirus 2.01x10°

m Campylobacter 3.21x10°

m Salmonella 2.70x 10*
W Listeria 358

B E. Coli 1.05x 10°
M Clostridium 5.25x 10*

8. What was the combined total number of food poisoning cases caused by Norovirus and

Salmonella?
A 2.28 x 10°
B 22.8 x 10°
C 2.71 x 104
D 2.71x10°

9. Each case of food poisoning costs the economy £25 per day taken off work.
For Salmonella poisoning people take on average 4 days off work.
What was the cost to the economy of Salmonella poisoning in 20147? (1)

A £2.7 x 102
B £6.75 x 10*
C £1.7 x 10°
D £2.7 x 108
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Questions 10 to13 are about a scale drawing of a doll’s house.

10 The scale drawing is of a doll's house.

23° 1.5cm

13mm

4.5¢cm 1.0cm

7.0cm

Y

A

The scale is 1:20

10. What is the angle represented by the letter A? (1)

A 113°
B 134°
C 136°
D 157°
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11. The length of the sloping roof, represented by the letter B on the scale drawing is: (1)

A V14.5 cm
B V51.25¢cm
C V5cm

D | V35cm

12. A chimney pot measuring 6¢cm in height is to be added to the top of the actual doll’'s

house.

What height would this be on the scale drawing? (1)

A 3mm
B 3cm
C 1.2cm
D 12cm

13. Each of the five windows shown is identical.
On the actual doll’'s house the windows will be made of Perspex.

What is the total area of the five windows on the front of the actual doll’s house? (1)

A 0.26m?
B 2.6m?
C 65cm?
D 0.65m?
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Questions 14 to 16 are about Body Mass Index (BMI).

To check a patient’'s Body Mass Index (BMI) a doctor uses this formula:

BMI = %
W = weight in kg

H = height in metres

14 The table below is used to classify the result.

BMI Category
Below 18.5 Underweight
18.5-25 Normal
25-30 Overweight
Over 30 Obese

14. A person with a height of 1.5m has a BMI of 16. To 1 decimal place, how much weight
do they have to gain to reach the normal BMI category? (1)

A 2.5kg
B 3.8kg
C 5.6kg
D 12.0kg

15. To the nearest whole number, what would be the BMI of a person who is 180 cm tall
and weighs 64kg? (1)

A 16
B 20
C 30
D 36
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16 A person who is 2m tall gains 6kg in weight

16. How will their BMI change? (1)

A It will go up by 3
B It will go up by 1.5
C It will go up by 6
D It will go up by 12
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Questions 17 and 18 are about internet usage.

People in the UK spent on average five hours a week watching TV shows, clips and
films on internet-connected devices largely due to the popularity of tablets and
smartphones in 2014.

TV programmes proved to be the most popular form of online content viewed by UK
users, at an average of two hours and 35 minutes a week.

Films were watched an average of one hour 50 minutes a week, and video clip views
averaged 35 minutes a week.

People in London averaged the most time watching online TV programmes (three
hours six minutes per week) and films (two hours 27 minutes per week).

A record amount of £3.6bn was spent on internet, smartphone and tablet advertising
in the first half of 2014.

17. £3.6bn was spent on internet, smartphone and tablet advertising in the first half of
2014.

40 million people have access to an internet connected device.

On average, how much advertising money is spent on each internet user. (1bn=10°) (1)

A 9.0x10
B 9.0x 10’
C  19.0x10?
D 9.0x 1072

18. To the nearest hour, on average, how much longer did Londoners watch TV online per
year compared to the UK average? (1)

A 26 hours
B 27 hours
C 62 hours
D 161 hours
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Questions 19 to 21 are about a cycle journey.

19 The graph shows the distance a person travelled on a cycling trip against the time taken.
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19. What speed was the cyclist travelling over the fastest section of the journey? (1)

A 12 miles/hour
15 miles/hour
22.5 miles/hour
30 miles/hour
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20. What was the cyclist’'s average speed over the first 40 minutes of the journey? (1)

A 12 miles/hour
15 miles/hour
22.5 miles/hour
30 miles/hour
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21. After 100 minutes the cyclist reaches a downhill section of the journey and averages a
speed of 33 miles per hour for 10 minutes before reaching home.
What is the total distance travelled by the cyclist from the start of the trip? (1)

A 23.3miles
B 23.5miles
C 25.5miles
D 26.6miles

Questions 22 and 23 are about the population of small birds called wrens.

The graphs show the population size for wrens in the UK, and the mean December to
February temperatures in central England, from 1969 to 2004.

Index of population size far Wrens on farmland and woodland in the UK
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[Source: Census Unit, British Trust for Ornithology, The Nunnery, Thetford, Norfolk P24 2PU.]

22. Which trend do the graphs suggest?

A Wren populations are affected by winter temperatures.

B The range of temperatures between February and December affect
bird population.

C Bird populations are affected by rainfall

D Severe winters occur biannually.
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The table shows the results of a survey of a number of wrens’ nests carried out to find out
how many eggs were laid by a pair of birds.

0

1-2
3-4
5-6
7-8
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2
8

23. In which group is the median number of eggs laid per nest?

A 1-2
B 3-4
C 5-6
D 7-8
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Questions 24 to 27 are about an ornamental fish pond.
The diagram shows the design of a fish pond.

The fish pond is a V4 circle.

Area of circle = 7r?

T~3
r = radius

1.2m

&
v

1.2m

Not to scale

24. The fish pond is filled with water to a depth of 0.6m.
What is the volume of water in the pond? (1)

A 0.54m3
B 0.65m?3
C 2.6m?3
D 2.2m3

25. An edging is needed to go around the perimeter of the fish pond. The edging costs £3
per metre.

[ Perimeter of a circle= 7 x diameter T~3 }

What will be the total cost? (1)

A | £10.80
B | £21.60
C | £28.80
D | £32.40
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26. When stocking the pond with fish it is important that it is not overcrowded. The
guidance is a surface area of 60cm? is needed for every cm of fish. The fish chosen are
on average 10cm in length.

How many fish are recommended for a pond this size? (1)

A 11
B 18
C 72
D 180

27. The lengths of the sides of the pool are doubled from 1.2m to 2.4m but the shape
remains a quarter of a circle.
By how much will the surface area of the pond increase? (1)

It will increase by a factor of 1.2
It will increase by a factor of 2
It will increase by a factor of 4
It will increase by a factor of 8
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Questions 28 to 30 are about density.

28 Maple wood has a density of 755kg/m?

Mass= density x volume

28. What is the approximate mass of a piece of maple with a volume 0.25m3? (1)

A 32kg

B 53kg

C 189kg
D 3020kg

29 A piece of gold has a mass of 251¢g

It has a volume of 13cm?

Mass= density x volume

29. What is its approximate density? (1)

A 19.3 g/cm3
B 51.8 g/lcm?
C 193 g/cm?®

D 3263 g/cm?
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The density of butter is 865Kg/m?3

Mass= density x volume

30. Which of the following is equivalent to 865kg/m3?

A 0.865g/cm?
B 8.65g/cm?®
C 86.5g/cm?
D 865g/cm?
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